2024/01/17 03:24

1/2

support_wheel_rear

1101046 Stodhjul bak

Pos Art.nr Bendmning Description Betegnelse Quan] Page
1 1101061 Stag vandbart stodhjul - Rod support wheel [Stag bak 1
2 H101125 [Stodhjul Suppoert-wheel IStodhjul 1
3 p41043 Karosseribricka M10 Washer M10 x 256 ISkive M10 x 25 1
4 p41023 Bult M10 x 20 Screw M10 x 20 ISkrue M10 x 20 1
5 401020 Distans 20 x 35 x47 Distans Afstandsstycke 1
rev. 170514/eas
3.10-1

Envirologic Support Wiki - https://wiki.envirologic.se/



Last update: 2020/03/20 03:17 cc:support_wheel_rear https://wiki.envirologic.se/doku.php/cc:support_wheel_rear

From:
https://wiki.envirologic.se/ - Envirologic Support Wiki

Permanent link:
https://wiki.envirologic.se/doku.php/cc:support_wheel_rear

Last update: 2020/03/20 03:17

https://wiki.envirologic.se/ Printed on 2024/01/17 03:24


https://wiki.envirologic.se/
https://wiki.envirologic.se/doku.php/cc:support_wheel_rear

